Snap acting relay

YT-520 / 525/ 530 / 535 Series

PRODUCT MANUAL

YT-520S

YT-520D

YT-530S

YT-530D

YT-525S YT-525D

YT-535S

rotorie

Rotork YTC Limited

VERSION 1.20



Snap acting relay

YT-520 /525 / 530 / 535 series Product Manual
Contents

T INFOAUCHION ... ettt e e st e e e e st et e e sabe e e e e sabbeeeesbneeeeane 3

11 General INformation fOr the USEIS .......ooiiiiieie e 3

1.2 MANUFACTUIET WAITAINTY ... .eeveeiieieieieieieeeeeeeeeeeeeeeeeaeeeeseeaeeeseeesessssssssssesasassssssssssssssssssssssssssssnssnnssnsnnnsnnnnnnns 3

2 ProducCt DeSCHIPLION ... s 4

2.1 (C =T o= o PSP PTPP PRSP 4

2.2 Main Features and FUNCHIONS ..........oiiiiiiii ittt sttt et e e skt e e s s e e e s annneee s 4

2.3 (= L= [ D 11T o o110 I TSP PO T PP OPPPPROPPPI 4

2.4 (0T |8 o SO oo [ ST PP PP O PP PPOPPPI 6

2.5 Product SPECITICALION ......ceiiiiiiiii ittt ettt e e sttt e s bt e e e s nn e e e s annreee s 6

2.6 (oo 10Tt D11 1T 0 £ (o o PP PUP PRSPPI 7

2.6.1 YT -520 / 525 .. ittt e e et e e e e e e hh e et et e e e e e b n e e et e e e e e e e bnrrereaaaaean 7

2.6.2 YT -030 / 53D ittt e e e b e et e e e e e e hE e e et e e e e e e e ba b e e e e e e e e e s e nbarreeeaaaaean 7

2.7 OPEIALION LOGIC. .. ettt s 8

2.8 ST (o] o e 21V o o L TP PP O TP PUPPPO 9

P2 S B R 0 21 O < 2 SRS PERRR 9

P S G 310 < YC 1 T RPN 10

3 INSTAIALION ... e nees 1"

3.1 S Y . ————— 11

3.2 103 2= =1 T o PP 12

3.3 LI = 1| Fo AT TN = 1 1] 0] = NS 13

4 MAINTENANCE ...ttt e e et e e e e e e e e e e et e e a et e e e e e e e a e e e e nanneeeeaa 14

4.1 Replacement of Parts (REPAIF KIt)........cuueeiiiiiiiiiiiiiie e 14

4.2 Replacing Upper diaphragm @SSy ......ouuuiiiiiiiiieiiiiiee ettt 14

5 Trouble-ShOOtING ........c.ooiiii e 15

Ver. 1.20 2 roton(.



Snap acting relay

YT-520/ 525/ 530 / 535 series Product Manual
1 Introduction
1.1 General Information for the users

Thank you for purchasing Rotork YTC Limited products. Each product has been fully inspected after

its production to offer you the highest quality and reliable performance. Please read the product

manual carefully prior to installing and commissioning the product.

>

Installation, commissioning, and maintenance of the product may only be performed by trained
specialist personnel who have been authorized by the plant operator accordingly.

The manual should be provided to the end-user.

The manual can be altered or revised without any prior notice. Any changes in product’s
specification, design, and/or any components may not be printed immediately but until the
following revision of the manual.

The manual should not be duplicated or reproduced for any purpose without prior approval from
Rotork YTC Limited Gimpo-si, South Korea.

In case of any other problems that are not stated in this manual, please make immediate contact
Rotork YTC Limited.

1.2 Manufacturer Warranty

>

For the safety, it is important to follow the instructions in the manual. Manufacturer will not be
responsible for any damages caused by user’s negligence.

Any modifications or repairs to the product may only be performed if expressed in this manual.
Injuries and physical damages caused by customer’s modifying or repairing the product without a
prior consultation with Rotork YTC Limited will not be compensated. If any alterations or
modifications are necessary, please contact Rotork YTC Limited directly.

Standard type with NBR rubber (ambient temperature range option 1) is subject to damage by
ozone. If you suspect that ozone may be present at the site or if supplied air is likely to contain
ozone, select a high temperature version (ambient temperature range option 2) or a low
temperature version (ambient temperature range option 3) with SILICONE rubber.

The warranty period of the product is (18) months from the date of shipment unless stated
otherwise. Date of shipment can be checked by providing the LOT NO. or SERIAL NO. to us.
Manufacturer warranty will not cover products that have been subjected to abuse, accidents,
alterations, modifications, tampering, negligence, misuse, faulty installation, lack of reasonable
care, repair or service in any way that is not contemplated in the documentation for the product,
or if the model or serial number has been altered, tampered with, defaced or removed; damages
that occurs in shipment, due to act of God, failure due to power surge, or cosmetic damage.
Improper or incorrectly performed maintenance will void this limited warranty.

For detailed warranty information, please contact the corresponding local Rotork YTC Limited

office or main office in South Korea.

Ver. 1.20

3 rotori



Snap acting relay

YT-520/ 525/ 530 / 535 series Product Manual
2 Product Description
2.1 General

Snap Acting Relay is a device that receives its main pneumatic pressure from the plant as signal
pressure and changes the direction of pneumatic flow by changing the direction of the flow path inside
the product when the signal pressure drops below the set pressure. For general use, it is installed on
the control valve, and when the main pneumatic pressure from the compressor is lower than the
required pressure due to power failure or pipe breakage, it senses the drop and flows the pressure
from the air tank which is connected to the Snap Acting Relay to the actuator of the control valve and

moves the valve to the safe position.

2.2 Main Features and Functions

» It can be installed using only piping without a separate bracket.

» Hysteresis is below 0.01 MPa.

»  Built-in 80 mesh screen prevents foreign matter from entering and prevents malfunction.

» Highly corrosion-resistant polyester powder coated aluminum body or stainless steel body for high

durability in various environments.

2.3 Label Description

Ve © N e v N
FOTOTIE SNAP ACTING RELAY | [ Pene wvosensoro geicrans v
C€ & 11260 Fx hIIC T6 Gb, Fx h IIC T85C Db rotori EALIB Y mwmsiccols
. . RU CRAMD2B.00130/19 CReNaHo 8 Kopee
MODEL YT-520 521 File Ref : Mozems VT 820 N3
LOT NO. : C21A5 / 03.2021 20THH0488 x Kog uagenmst. : L21A1
AMBIENT TEMP.  : =20 ~ 70°C Mecau, Fog @ 12.2021
MAX. SUP. PRESS. : 1 MPa (10 bar) Temn. okp. ¢p.: —40 ~ 70°C
SIGNAL PRESS.  : 0.14 ~ 0.7 MPa (1.4 ~ 7 bar) MAX paenenne nutanns ;1 MMa (10 6ap)
AR CONNECTION : 1/4 NPT G K Naenenve yripasnenns  : 0,14 ~0,7 MMa (1,4 ~7 Gap)
impo=si, forea Monkniodene Bosayxa  : 1/4NPT
L Rotork YTC Ltd.  www.ytc.cokr  Made in Korea ) | Temneparypa xpatietns : -60°C )
Fig. L-1: YT-520 (ATEX) Fig. L2 YT-520 (EAC)
- ) . - ~
FOTOriE SNAP ACTING RELAY Pene MrHoBeHHOro AencTBus
(€& I 2GD Ex h IC T6 Gb, Ex h IIIC  T85°C Db e I1Gb ¢ X GimR(:)u_)MgLéi
. File Ref : x rotorie ERL 2% wevw.y'tc.cg.kr
“LASTD% : E;;i?/%; 1 200438 RU C-ARANO2B.0013019  Caenros Kopee
) : . Mogenb S YT-525 SNJ
O AMBIENT TEMP. : —20 ~ 70°C O O Koaumenws - 171A] O
MAX. SUP. PRESS. : 1 MPa (10 bar) Tom oot 13002k v
SIGNAL PRESS. = 0.14 ~ 0.7 MPa (1-4 ~ T b‘”) MAX nasnexue nutaqms : 1 MMa (10 Gap)
AIR CONNECTION = 1/4 NPT _ _ Dasnenve ynpaenewna 0,14 ~ 0,7 MMa (1,4 ~ 7 6ap)
e cok Gimpo-si, Korea MopkmioueHue Bosayxa : 1/4 NPT
g Rotork YTC Ltd. www.ytc.ca.kr Made in Korea ) \_ Temneparypa xparens : -60°C )
Fig. L-3: YT-525 (ATEX) Fig. L-4: YT-525 (EAC)

Ver. 1.20 4 roton(.



Snap acting relay
YT-520/ 525/ 530/ 535 series

Product Manual

rotor

C € € 1196 Ex h IC T6 Gb, Ex h IIC T85C Db

> SNAP ACTING RELAY |

MODEL © YT-530 SN1 File Ref : 20THH0488
LOT NO. : C21A5 / 03.2021

AMBIENT TEMP. : =20~ 70C

MAX. SUP. PRESS. : 1 MPa (10 bar)

SIGNAL PRESS. © 0.14~ 0.7 MPa (1.4 ~ 7 bar)

SIGNAL PORT : 1/4 NPT
Rotork YTC Ltd.

A/B/C PORT : 3/8 NPT

Wiyt cokr Gimpo-si, Korea

Pene MrHOBEHHOrO AeiCTBuUS

rotoric ERLHB S

RU C-KR.AM02.B.00130/19

Made in Korea J

T YT-530 SN3
L L21A1 /12,2021
1240 ~ 70C

1 MMa (10 6ap)

Mogens

Kon uspenus Mecsi, Mog
Temn. okp. cp.

MAX aaBnenue nutaHus
[llaBnenue ynpasnexns
MopT ynpaeneHus : 1/4 NPT,
TemnepaTypa XpaHeHus :-60°C

www.ytc.co.kr
DbcX ¢,

+0,14~0,7 MNa (1,4 ~7 bap)
MOPT A/B/C : 3/8 NPT

~

Rotork YTC Ltd.
Gimpo-si, Kopes

enaHo B Kopee

Fig. L-5:  YT-530 (ATEX)

Fig. L-6:  YT-530 (EAC)

s ~ u
rotorie SNAP ACTING RELAYCE & | Pene MIHOBEHHOMO A@IiCTBMS Rl Y10 M
126D Ex h IC T6 Gb, Ex hIIC T85C Db > 1GbcX impo-si, Kopes
: — rotork LIRS ooyt 0l
MODEL © YT-535 SN1 File Ref : 20THH0488 RU C-KR AM02.B.00130/19  ~AeNar0 B Ropee
LOT NO. : C21A5 / 03.2021 Mogens - VT535 N3
O AMBIENT TEMP. = =20 ~ 70°C O O Ko wapenws/ Mecau, Tog = L21A1 /j2.2021 O
MAX. SUP. PRESS. : 1 MPa (10 bar) Tewn. okp. cp. : —40 ~ 70C
SIGNAL PRESS. @ 0.14 ~ 0.7 MPa (1.4 ~ 7 bar) J“l"AXﬂaB”eHMe“MTaHMﬂ ;(1)'1\/|4ﬂa0(170M63p)(14 .
. . aBJIeHNE ynpaBnexHna - 0,14 ~0, a(1,4~76ap
JJONAL PORT W/4 W A/B/C PORT- 3/8 NPT Gimpo-si, Korea Mopt ynpaenenus : 1/4 NPT,  A/B/C noptbi : 3/8 NPT
Rotork YTC Ltd. www.ytc.co.kr Made in Korea TemnepaTypa xpaHeHus - 50°C

. J . J

Fig. L-7:  YT-535 (ATEX) Fig. L-8: YT-535 (EAC)

. MODEL : Indicates the model number and additional symbols.
. LOT NO. : Indicates unique lot number.

. MONTH.YEAR : Indicates manufactured month and year.

. AMBIENT TEMP. : Indicates the allowable ambient temperature.

. MAX. SUPPLY : Indicates max. supply air pressure level.

e SIGNAL PRESSURE : Indicates the signal pressure range.

e AIR CONNECTION : Indicates connection thread type.

X Precautions

Be careful not to apply volatile solvent (hardener of instant adhesive, acetone, WD-40, etc.) to the

A\

sticker nameplate. Printed contents may be erased.

Ver. 1.20 5

rotori



Snap acting relay
YT-520/ 525/ 530/ 535 series

Product Manual

2.4 Product Code
YT-520/525/530/535 |1 |2 || 3
S: Single acting
1| Acting type
gup D: Double acting
Air Connection type 2: NPT
1: -20~70°C (-4 ~ 158 °F) : N/Afor EAC
i 2: -20~120 °C (-4 ~ 248 °F) : N/Afor EAC
Ambient Temperature
3: -40~70°C (-40 ~ 158 °F)
4: -50~70°C(-58 ~ 158 °F) : only EAC
In case of EAC, put “EAC” in a purchase order.
2.5 Product Specification
Model YT-520 YT-525 YT-530 YT-535
Max. Supply Pressure Max. 1 MPa (10 bar)
Signal Pressure Setting 0.14 ~ 0.7 MPa (1.4 ~ 7 bar)
Range
Hysteresis Below 0.01 MPa (0.1 bar)
Flow Capacity (CV) 0.9 1.8
A, B, C port Connection 1/4 NPT 3/8 NPT
Signal Connection 1/4 NPT 1/4 NPT
Standard -20~70°C (-4 ~ 158 °F)
Ambient High -20 ~ 120 °C (-4 ~ 248 °F)
Temperature | oy -40 ~ 70 °C (-40 ~ 158 °F)
Arctic -50 ~ 70 °C (-58 ~ 158 °F)
. : . Stainless Steel . Stainless Steel
Housing Material Aluminum 316 Aluminum 316
Single 0.71kg (1.61b) | 1.7 kg (3.81b) | 1.5kg (3.31b) | 3.3kg (7.3 Ib)
Weight
Double 1.3kg(291b) | 3.1kg(6.91b) | 2.7kg (61b) |5.8kg (12.8Ib)
Tested under ambient temperature of 20 °C, absolute pressure of 760 mmHg, and humidity of 65 %.
& Please contact Rotork YTC Limited for detailed testing specification.
Ver. 1.20 6 roton(.




Snap acting relay
YT-520/ 525/ 530 / 535 series Product Manual

2.6 Product Dimension

2.6.1  YT-520/525

=
AN Mounting nut
_ Vent hole
B1 port o !
5 © 1
1/4 = [ A1 port
| =BEN
o LA | | Signal port
~ C1 pOV’t /_ ‘ 1/4),
o 8 1/4 \
s ‘ A port / + A2 port
. i S A | ¥ 1/4"
T O 1/4 B2 port — {
B port = % J e =) P ‘
e " ! , LI | N
L Signal port
C port /} ! 1/47” €2 p(jrt /— |
/% . i ; (/2 A ey W gy |
Single Double

2.6.2  YT-530/535

@1 MBx1.25P Dp. 20

L Vent hole

% F‘ S\gnu\ port
B1 port ‘
— 3/8" |
- %% %1 ~d _
Al port
| — F 0
L ‘ Vent hole Clport & I ‘ 3/8
3/8" I~ |
) fa R
ol 52 ‘ S\gnc\ port F ‘
o | |
- 1 = A2 port
‘ EB
A | { /38
B port Y% B2 port /
3/8" 3/8 ) ‘
¢ port c2zpot | —" |
38 3/8" 0O — oo O

Double

Ver. 1.20 7 roton(.



Snap acting relay
YT-520/ 525/ 530 / 535 series Product Manual

2.7 Operation Logic

M8 Nut

Mounting nut (2

[ e 1) Adjust shaft
Cover (3 \

Upper Spring seat (5
64 Ball (3 6) Adjust spring

P3 0-ring o o
o | 8) Upper diaphragm ass’
Exh. ring _E_ % 1 PP Pres )

| g o 10 Lower diaphragm
SIGNAL R 1) Pusher spring
» 12) Pusher

A
__. __>

: H

B— A
7 o
’ Seat
19 Seat spring

Lower body (16)

If the signal pressure is larger than the setting pressure (@adjustment spring force), the signal
pressure is boosted to the upper diaphragm assembly. Through the middle hole, the signal pressure
pushes the (0)lower diaphragm and moves down the (2)pusher and the (9seat. As a result, the B port

is connected to the A port.

On the contrary, if the signal pressure is smaller than the set pressure ((6)adjustment spring force),
the (®upper diaphragm assembly will come down and the signal pressure will not go to the lower
diaphragm and the (7)4-pie ball will drop from the upper diaphragm assembly. As a result, the air that
has pressed the lower diaphragm down will be exhausted through the (7)4-pie ball, and the (5seat
spring will lift the (4)seat and the (Dpusher spring will lift the (2)pusher. As a result, the B port is
blocked and the C port is connected to the A port.

Ver. 1.20 8 rotorl(.



Snap acting relay
YT-520/ 525/ 530 / 535 series Product Manual

2.8 Section drawings

2.8.1  YT-520/525

Single Double
1
3 2
4
5
6
7
8 1 U 3
1 g | ! ‘ ‘ 12
10 |
3 2 79
11
: 0 20
5 21
13
5 i g 27
- SIGNAL == 7 |
: 23
8 (. - | 7 £
9 ‘ ‘ ‘ 18 ‘ = Al
10 L o 19 ‘i ;
11 19
12 20 A g
13 M S 21 & ‘ )
SIGNAL == I | 22 . &
& 03 '
— A L 12
\d 20
21
22
~§ 23
7 i S
% /
NO. PART NAME NO. PART NAME NO. PART NAME
1 ADJUST SHAFT 11| UPPER DIAPHRAGM ASS'Y 21 PUSHER
2 NUT (M8*1P) 12 0-RING(P3) 22 0-RING (P7)
3 MOUNTING NUT 13 BASE BODY 23 PUSHER SPRING
4 0-RING (P5) 14| SCREEN (8OMESH, 1/4”) 24 0-RING (P34)
5 BASE COVER 15 SEAT 25 0-RING (P10)
6 UPPER SPRING SEAT 16 SEAT SPRING 26 EXHAUST RING-D-2
7 | BOLT (M5%70, RH, 3713) 17 LOWER BODY 27|  BASE BODY-DOUBLE
8 SPRING WASHER (M5) 18| BOLT(M5*30, RH, W/S) 28 BOLT (M5*90, WH)
9 ADJUST SPRING 19 EXHAUST RING 29 EXHAUST RING-D—1
10 BALL(M) 20 LOWER DIAPHRAGM 30 LOWER BODY-DOUBLE

Ver. 1.20 9 roton(.



Snap acting relay
YT-520/ 525/ 530 / 535 series Product Manual

2.8.2 YT-530/535

Single Double
{
1
5
15
{
8
19
1 3
4
= 2]
5 3
®  SIGNAL == :
! O,
)\
18 :? G
19 ®
S i i ' B]. = %]
4 LEE o 2
L 5 g a
i
SIGNAL == %
%)
- 4 (==}
Be==| =
7 ’ A\
8 | @
: N
N —
C | N BQ
12 N ®
; NN\ NN \ L i
© N9
S Q)
(o= N—09
N—@
NO. PART NAME NO. PART NAME NO. PART NAME
1 SPRING WASHER (M6) 12 0-RING (526) 23 SIGNAL TUBE-2
2 BOLT (M6*30, WH) 13 BOLT (M6*70, WH) 24 PUSHER
3 BALL(04) 14 ADJUST SHAFT 25 PUSHER SPRING
4 | UPPER DIAPHRAGM ASSY 15 LOCK NUT 26 0-RING(P36)
5 O-RING (S4) 16 0-RING (P7) 27 SEAT SPRING
6 SIGNAL TUBE-1 17|  UPPER SPRING SEAT 28 0-RING(ANO15)
7 0-RING (P10) 18 ADJUST SPRING 29 BASE BODY-2
8 SCREEN 19 BASE COVER 30 LOWER BODY-1
9 BASE BODY-1 20 0-RING (P3) 31 EXHAUST RING-2
10 SEAT 21 EXHAUST RING-1 3 LOWER BODY-2
11| LOWER BODY INSERT 22| LOWER DIAPHRAGM 33| BOLT (M6*110, WH)

Ver. 1.20 10 rotorl(.



